
x  4725

x  324

x  723

x  322

x  321

x  520

6x  719

8a  418

29x  1617

18x  616

12x  315

6x  214

56x  3513

15x12

6a11

 103 x10

45x9

3a  68

5x  67

7x6

285

424

43

222

21

no.7

x  225

x  624

x  423

x  622

x  1021

x  920

a  2119

6x  1418

24a  117

5x  1016

8x  2015

9x  314

24a  113

21x12

3a11

15a10

56x9

6x  28

a  27

3x6

215

94

13

52

51

no.8

x  51
525

x  2624

x  523

x  422

x  421

x  320

a  3719

2x  218

11x  717

9x  616

15x  2115

7x  114

21x  1513

18x12

3y11

18x10

12x9

5a  58

6x  47

7x6

305

304

273

232

31
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x  325

x  224

x  523

x  422

x  321

x  320

x  319

6x  718

x  1317

19x  116

6x  315

28x  714

8x  213

48x  1812

6x11

9a10

8a9

42x8

4x  27

2x  46

4x5

84

483

42

61

no.4

x  225

x  4124

x  323

x  222

x  721

x  220

x  219

6x  718

4x17

10x  516

21x  615

9x  1514

8x  113

40x  2512

20x11

8y10

15x9

48x8

3x  77

4x  76

5x5

44

283

182

51

no.5

x  325

x  324

x  523

x  222

x  221

x  320

x  519

x  1718

2x  217

19x  816

18x  215

9x  1814

9x  313

49x  2812

25x11

6a10

8x9

63x8

3x  77

4x  66

8x5

64

273

62

21
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x  3525

x  324

x  523

x  122

x  321

x  220

x  319

2x  118

8x  217

39x  2216

9x  315

20x  814

5x  213

49x  2112

15x11

8a10

4x9

35x8

7x  57

3x  96

12x5

74

423

212

21

no.1

x   16725

x  524

x  223

x  422

x  421

x  220

x  519

x  2118

2x  1417

33x  416

15x  615

30x  514

2x  613

54x  7212

8x11

8a10

6a9

30x8

2x  17

4x  56

6x5

64

723

232

51

no.2

x  2725

x  424

x  11
523

x  222

x  321

x  120

x  1
719

6x  1918

x  217

14x  616

12x  415

6x  2414

5x  113

32x  1212

10x11

7y10

15x9

27x8

3x  37

3x  46

2x5

64

303

182

21
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